
 

  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2019. 

Third Year 

Accounting and Finance 

BUSINESS FINANCE 

Time : 3 hours Maximum  marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Why is maximizing? Wealth better goal than 
maximizine profits. 

 C»õ£ AvP›¨¤øÚÂh ö\ÀÁzøu AvP©õÚ 

C»UPõP öPõshx Hß? 

2. What are the kinds of equity shares? 

 \õuõμn £[SPÎß ÁøPPÒ ¯õøÁ? 

3. Briefly explain the concept of capital structure. 

 ‰»uÚ Aø©¨¦ P¸zvøÚ _¸UP©õP ÂÍUSP. 

 UG–231 BAF–31/
  BCS–31
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4. What are the disadvantages of in adequate 
working capital? 

 |øh•øÓ •uÀ £ØÓõU SøÓ°ÚõÀ HØ£k® 

SøÓ£õkPÒ ¯õøÁ? 

5. Explain the kinds of dividend. 

 £[Põu¯zvß ÁøPPøÍ ÂÍUSP. 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Discuss the functions of financial management. 

 {v ÷©»õsø©°ß £oPøÍ ÂÁ›. 

7. How the cost of capital is determind for equaity 
shares and preference shares? 

 ÷|ºø©£[SPÒ ©ØÖ® •ßÝ›ø© £[SPÎß 

AhUPÂø» GÆÁõÖ {ºn°UP¨£kQÓx. 

8. Discuss the factors which determinds the capital 
structure. 

 •uÀ Pmhø©¨¤øÚ {ºn°US® PõμoPøÍ 

ÂÍUSP. 

9. Explain the source of working capital and factors 
which determine them. 

 |øh•øÓ ‰»uÚzvß Buõμ[PÒ ©ØÖ® AuøÚ 

{ºn°US® PõμoPøÍ ÂÍUSP. 
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10. What are the factors that influencing dividend 
policy of business? 

 Â¯õ£õμzvß £[S Buõ¯ öPõÒøP°øÚ £õvUS® 

PõμoPÒ ¯õøÁ? 

11. What are the merits and demerits of preference 
shares? 

 •ßÝ›ø© £[SPÎß |ßø© wø©PÒ ¯õøÁ? 

12. Explain the different sources of security financing. 

 ¤øn¯ {v Cku¼ß £À÷ÁÖ Buõμ[PøÍ 

ÂÍUSP. 

––––––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION —  
JUNE, 2019. 

Third Year 

AUDITING 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Distinguish between Internal Check and Internal 
Control. 

 APa^μõ´ÂØS® APzuoUøPUS® EÒÍ 

÷ÁÖ£õmøh TÖP. 

2. Explain the salient features in the vouching of 
wages in an industrial concern. 

 J¸ öuõÈØ\õø»°À T¼ \õßÓõ´Ä ö\´u¼À EÒÍ 

]Ó¨¤¯À¦PøÍ ÂÍUSP.. 

3. State the concept of EDP auditing. 

 Cøn¯uÍ uoUøP £ØÔ TÖP. 

 UG–241 BAF–32
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4. Explain the provisions regarding the payment of 
dividend. 

 £[Põuõ¯® AÎ¨£uØPõÚ \mh \μzxUPøÍ 

ÂÍUSP. 

5. Mention the objects of investigation. 

 ¦»Úõ´Âß ÷|õUP[PøÍ SÔ¨¤kP. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Discuss the different types of audit. 

 uoUøP°ß £À÷ÁÖ ÁøPPøÍ  ÂÁ›. 

7. Explain the duties of an auditor in connection with 
vouching of payment side of cash book. 

 öμõUP ¦zuPzvß Fv¯® ÁÇ[SÁuß ‰»® J¸ 

uoUøP¯õÍ›ß Phø©PøÍ ÂÍUSP. 

8. What are the various internal control techniques 
that are applicable in an EDP Audit? 

 EDP uoUøPUS ö£õ¸¢uUTi¯ £À÷ÁÖ EÒÍP 

Pmk¨£õmk ~m£[PÒ ¯õøÁ? 

9. What are the rights and duties of company 
auditor? 

 J¸ {Ö©zvß uoUøP¯õÍ›ß E›ø©PÒ ©ØÖ® 

Phø©PÒ ¯õøÁ?  
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10. Discuss the auditor liability to third parties for (a) 
Fraud and (b) negligence. 

 A¯»õº ö\´²® ÷©õ\i ©ØÖ® PÁÚUSøÓÄ ÷£õßÓ 

{PÌÄPÎß uoUøP¯õÍ›ß ö£õÖ¨¦PøÍ¨ £ØÔ 

ÂÁõvUP. 

11. Explain the different methods of depreciation. 

 ÷u´©õÚ® PnUQk® •øÓPøÍ ÂÍUSP. 

12. Explain the advantages of audit programme. 

 uoUøP vmhªh¼ß |ßø©PøÍ ÂÍUSP. 

——————— 



  

 

 

B.Com. (A & F), B.Com. (Bk. Mgt) DEGREE 
EXAMINATION — JUNE, 2019. 

Third Year 

INCOME TAX 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. How will you ascertain residential status of an 
Individual assessee? 

 uÛ |£º J¸Á›ß Si²›ø© A¢uìøu GÆÁõÖ 

öu›¢x öPõÒÁx? 

2. Mr. X is an employee of a company in Coimbatore 
(population not exceeding 10 lakhs). He gets 
salary of Rs. 40,000 p.m., Dearness allowance  
Rs. 2,000 p.m. (50% enters into service benefits) 
and city compensatory Allowance Rs. 1,200 p.m. 
He has been provided a Rent free house by the 
company, fair rental value of which is  
Rs. 4,800 p.m. Compute Taxable value of 
perquisite. 

 UG–242 BAF–33
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 v¸. X Gß£Áº ÷Põ¯®¦zy›À {Ö©® JßÔÀ 

£o¯õÍº BÁõº. (©UPÒ öuõøP 10 »m\zxUS® 

SøÓÁõP). AÁº \®£Í©õP ©õu® ¹. 40,000•®, 

APÂø»¨£i ©õu® ¹. 2,000•® (50% K´Åv¯ 

|»ßPÐUS ÷\ºUP¨£k®) |Pº DkPmk® £i ©õu® 

¹. 1,200 •® ö£ÖQÓõº. {Ö©® AÁ¸US ÁõhøP 

CÀ»õ Ãk JßÖ AÎzux. Auß {¯õ¯©õÚ ÁõhøP 

©v¨¦ ©õu® ¹. 4,800. Á›USm£mh ÷©»õuõ¯® 

PnUQkP. 

3. Dr. Narayanan is a medical practitioner in 
Chennai. From the following, calculate his income 
from profession for the AY 2018-2019. 

 Rs. 

Gross receipts from dispensary  2,35,000

Gross receipts from consultancy  1,65,000

Operation fees  2,50,000

Visiting fees  50,000

Gift from patients  30,000

Medicines purchased  1,25,000

Closing stock of medicine  35,000

Opening stock of medicine  10,000

Salary to employees  1,50,000
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 Rs. 

Dr. Narayanan went to attend a 
medical seminar in Germany to 
update knowledge and spent  
Rs. 65,000 on it. 

Medical books purchased  20,000

 Dr. |õμõ¯nß Gß£Áº ö\ßøÚ°À ©¸zxÁ 

£°Ø]¯õÍμõP  £o¯õØÖQÓõº. RÌPõq® 

ÂÁμ[PÎ¼¸¢x Á›Âv¨¦ Bsk 2018&19, 

AÁ›ß öuõÈÀ Á¸©õÚzøu PnUQkP. 

 ¹. 

øÁzv¯\õø»°¼¸¢x ö©õzu 

ÁμÄ 

2,35,000

©¸zxÁ B÷»õ\øÚ°¼¸¢x 

ö©õzu ÁμÄ 

1,65,000

AÖøÁ ]Qaø\ Pmhn® 2,50,000

Á¸øP u¸QÓ Pmhn® 50,000

÷|õ¯õÎPÎhª¸¢x ö£ØÓ £›_ 30,000

©¸¢xPÒ öPõÒ•uÀ 1,25,000

CÖv \μUS ©¸¢x 35,000

öuõhUP \μUS ©¸¢x  10,000

öuõÈ»õÎPÎß \®£Í®  1,50,000
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Dr. |õμõ¯nß uÚx AÔøÁ 

¦x¨¤zxU öPõÒÍ öáº©Û°À 

|h¢u ©¸zxÁ P¸zuμ[QÀ P»¢x 

öPõshuØS ¹. 65,000 ö\»ÁõÚx 

©¸zxÁ ¦zuP[PÒ öPõÒ•uÀ 20,000

4. What are the various assets which are not 
included in capital asset? 

 ‰»uÚ ö\õzxUPÎÀ ÷\ºUP¨£hõu £À÷ÁÖ 

ö\õzxUPÒ ¯õøÁ? 

5. The gross total income of Mr. Babu is Rs. 7,50,000. 
He has made the following donations. Calculate 
his net income. 

 Rs. 
 (a) National foundation for   
  communal harmony   15,000 
 (b) National children’s fund  30,000 
 (c) National defence fund   37,500 
 v¸. £õ¦ AÁºPÎß ö©õzu TkuÀ Á¸©õÚ®  

¹. 7,50,000 BS®. AÁº ¤ßÁ¸® PÈÄPøÍ 

E¸ÁõUQÚõº. AÁ¸øh¯ {Pμ Á¸©õÚzøu 

PnUQkP. 

 ¹. 

 (A) |õmiß ©u|À¼nUP AizuÍ {v  15,000 

 (B) |õmiß SÇ¢øuPÐUPõÚ |»{v  30,000 

 (C) |õmiß £õxPõ¨¦ £øh {v 37,500 
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SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Explain any ten incomes that are exempted from 
income tax. 

 Á¸©õÚ Á›US Â»US AÎUP¨£mh Á¸©õÚ[PÒ 

GøÁ÷¯Ý® £zøu ÂÍUSP. 

7. Mr. Vijayan’s house details are as follows  
(50% own residence and 50% let out) 

 Rs. 
Municipal value  1,12,000
Municipal tax  12,000
Ground rent due  2,400
Rent received (let out) 48,000
Repair  24,000
Insurance premium  3,000
Interest on loan for house construction 2,400

 Compute house property income for the A.Y.  
2018-2019. 

 v¸. Âá¯ß AÁºPÎß Ãmk ö\õzx ¤ßÁ¸©õÖ 

(50% ö\õ¢u Si°¸¨¦UPõPÄ® 50% 

ÁõhøPUPõPÄ®) 

 ¹. 

|Pμõm] ©v¨¦ 1,12,000

|Pμõm] Á› 12,000
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 ¹. 

{¾øÁ {» ÁõhøP 2,400

ö£ØÓ ÁõhøP (ÁõhøPUS EshõÚvÀ) 48,000

£Êx £õº¨¦ 24,000

Põ¨¥k •øÚ©® 3,000

Ãk PmiÁuØPõP ö£Ó¨£mh Phß «uõÚ Ámi 2,400

 2018&19 |h¨¦ ©v¨¥k BskUPõÚ Ãmk ö\õzx 

Á¸Áõø¯ PnUQkP. 

8. From the following P and L a/c calculate income 
from business for the year. 

 Rs.  Rs. 

To Rent and rates  45,000 By gross profit  2,25,000

To dep. on machinery  8,000 By Income from other 
sources  

1,50,000

To dep. on furniture  2,000 By Capital gain  1,00,000

To Purchase of car   50,000 By Miscellaneous   

To Car expenditure 3,000       income 1,25,000

To Advertisement     

     (cash) 25,000   

To Net profit  4,67,000   

 6,00,000  6,00,000
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 (a) Allow Rs. 5,000 as depreciation on 
machinery 

 (b) 50% of car expenses relates to personal use 

 (c) Miscellaneous receipt is approved by I.T. 
authority as business income 

 (d) Car has no depreciation. 

 ¤ßÁ¸® C»õ£&|mh PnUQøÚU öPõsk, 

BskUPõÚ ÁoP Á¸©õÚzøu PnUQkP. 
 ¹.  ¹. 

ÁõhøP ©ØÖ® Ãu® 45,000 ö©õzu C»õ£® 2,25,000

C¯¢vμzvß «uõÚ ÷u´©õÚ® 8,000 ¤ÓÁÈ ÁøP Á¸©õÚ® 1,50,000

AøÓP»ß «uõÚ ÷u´©õÚ® 2,000 •u¼Ú Buõ¯® 1,00,000

©QÊ¢x Áõ[Q¯x 50,000 Cuμ ¤Ó Á¸©õÚ[PÒ 1,25,000

©QÊ¢x ö\»ÄPÒ 3,000   

ÂÍ®£μ® (öμõUP©õP) 25,000   

{Pμ »õ£® 4,67,000   

 6,00,000  6,00,000

 (A) C¯¢vμzvß «x ÷u´©õÚ® ¹. 5,000 JxUSP 

 (B) 50% ©QÊ¢x ö\»ÄPÒ _¯ £¯ß£õmk 

öuõhº¦øh¯x 

 (C) Cuμ ¤Ó Á¸©õÚ[PÒ Á¸©õÚ Á› 

AvPõ›PÍõÀ ÁoP Á¸©õÚ©õP 

A[R›UP¨£mhx. 

 (D) ©QÊ¢x «uõÚ ÷u´©õÚ® Hx® CÀø». 
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9. From the following compute income from other 
sources for the assessment year 2018-2019. 

       Rs. 

 (a) Interest (gross) on investments   
with a company   20,000 

 (b) University remuneration for   
 working as an examiner  16,000 

 (c) Royalty for writing books  1,60,000 

 (d) Expenses on writing these books  40,000 

 (e) Dividend received from   
  a domestic company   12,000   

 (f) Interim dividend   12,000   

 (g) Family pension    48,000 

 Á›Âv¨¦ Bsk 2018&19 vØPõÚ ¤Ó 

‰»[PÎ¼¸¢x ö£Ó¨£k® Á¸©õÚ® PnUQkP. 

 ¹. 

 (A) {Ö© •u½k «uõÚ ö©õzu Ámi 20,000 

 (B) £ÀPø»UPÇPz ÷uºÁõÍº Fv¯® 16,000 

 (C) ¦zuP® GÊv¯ø©UPõÚ   

  Põ¨¦›ø© öuõøP    1,60,000 



 UG–242 9

 ¹. 

 (D) ¦zuP® GÊu ö\´u ö\»ÄPÒ  40,000 

 (E) C¢v¯ {Ö©¨ £[Põuõ¯® ö£ØÓx 12,000   

 (F) CøhUPõ» £[Põuõ¯®  12,000   

 (G) Sk®£ K´Åv¯®    48,000 

10. Calculate taxable income of Mr. Kamal from the 
following, if the gross total income is Rs. 2,50,000.  

 Life insurance premium of Mr. Kamal paid  
Rs. 900.  

 Contribution towards LIC pension fund Rs. 1,000 

 Medical Insurance Rs. 10,000 

 Expenditure on medical treatment for disabled 
relative Rs. 14,500 

 Donation to Indian Army Rs. 5,000 

 Donation to Government of India for Family 
planning Rs. 25,000. 

 v¸ P©À Gß£Á›ß ö©õzu Á¸©õÚ® ¹. 2,50,000 

GÛÀ, AÁμx Â›ÂvUSm£mh Á¸©õÚzøu 

PshÔP. 

 v¸. P©À AÁºPÐUS ö\¾zu¨£mh B²mPõ» 

Põ¨¥k ¹. 900 

 B²mPõ¨¥k K´Åv¯ vmhzvÀ £[PÎ¨¦ ¹. 1,000 

 ©¸zxÁ Põ¨¥k ¹. 10,000 
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 FÚ•ØÓ EÓÂÚ¸US ©¸zxÁa ö\»Ä ¹. 14,500 

 C¢v¯ £øhUS |ßöPõøh ¹. 5,000 

 Sk®£ Pmk¨£õk vmhzvØPõP Aμ\õ[PzvØS 

|ßöPõøh ¹. 25,000 

 

 

——————— 



 

  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2019. 

Third Year 

Accounting and Finance 

COST ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks) 
Answer any THREE questions. 

1. What are the objectives of cost accounting? 
 AhUPÂø» PnUQ¯¼ß ÷|õUP[PøÍ GÊxP. 

2. The following data relate to the manufacture of a 
product during the month April. 

 Raw material consumed Rs. 80,000, Direct wages 
Rs. 8,000, machine hours worked Rs. 10,000 
machine hours rate Rs. 5, office overhead 10% of 
work cost unit produced 5,000, calculate cost per 
unit. 

 ö£õ¸Ò EØ£zv £ØÔ¯ H¨μÀ ©õu Â£μ[PÒ 

¤ßÁ¸ÁÚ 

 E£÷¯õP¨£kzv¯ ‰»¨ ö£õ¸ÒPÒ ¹. 80,000 ÷|μi 

T¼ ¹. 8,000, C¯¢vμ ÷Áø» ©oPÒ 10,000 ÷|μ 

Ãu® ©oUS ¹. 5, A¾Á»P ö\»ÄPÒ 10% 

öuõÈØ\õø» AhUPzvß, EØ£zv ö\´¯¨£mh 

A»SPÒ 5,000. Kº A»Qß AhUPÂø»ø¯ 

PnUQkP. 

 UG-243 BAF–34
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3. The stock in hand of a material as on  
1st September was 500 units @ Rs. 10 per unit. 
Prepare stores ledger account under FIFO 
method. 

Purchases Issues  

6th September 100 
units @ Rs. 11 

9th September 500 units 

20th September 700 
units @  Rs. 12 

22nd 
September 

500 units 

27th September 400 
units @ Rs. 13 

30th 
September 

500 units 

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x \μUS 

÷£÷μmøh FIFO •øÓ°À Psk¤i.  

ö\¨h®£º 1 B® ÷uv \μUQ¸¨¦ 500 A»SPÒ ¹. 10 

J¸ A»S Ãu®  

öPõÒ•uÀ ÁÇ[P¨£mhx  

6th September 100 
A»SPÒ ¹. 11 

9th September 500 A»SPÒ 

20th September 700 
A»SPÒ ¹. 12 

22nd 
September 

500 A»SPÒ 

27th September 400 
A»SPÒ ¹. 13 

30th 
September 

500 A»SPÒ 
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4. Vasanth Ltd presents the following results for one 
year. Calculate (a) PV ratio (b) BEP and (c) 
Margin of safety. 

 Sales Rs. 2,00,000. variable cost Rs. 1,20,000; fixed 
cost Rs. 50,000. net profit Rs. 30,000. 

 Á\¢z {Ö©Úzvß ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x,  

(A) C»õ£ AÍÄ ÂQu® (B) \›\© ¦ÒÎ  

(C) £õxPõ¨¦ £Sv Psk¤i 

 ÂØ£øÚ ¹. 2,00,000; ©õÖ® ö\»ÄPÒ ¹. 1,20,000, 

{ø»¯õÚ ö\»ÄPÒ ¹. 50,000, C»õ£® ¹. 30,000. 

5. The following information relating to contrast  
No 123. contract price Rs. 6,00,000; wages  
Rs. 1,64,000; General expenses Rs. 8,600; Raw 
material Rs. 1,20,000; plant Rs. 20,000. 

 As on date, cash received was Rs. 2,40,000 being 
80% of work certified. The value of material 
remaining at site was Rs. 10,000 Depreciation 
plant by 10% prepare contracts account showing 
amount to be credited to P and L a/c. 

 J¨£¢u Gs 123&ß uPÁÀPÒ R÷Ç öPõkUP¨£mhx. 

J¨£¢u PnUS £mi¯À u¯›zx, AøÁ C»õ£ |mh 

PnUQÀ GÆÁõÖ ÷\ºUP¨£kQÓx GÚ u¯õ›UPÄ®. 

 J¨£¢u Âø» ¹. 6,00,000; ÷|μi T¼ 1,64,000; ö£õx 

ö\»ÄPÒ ¹. 8,600; ‰»¨ö£õ¸mPÒ ¹. 1,20,000; 

Bø» (Plant) ¹. 20,000. 

 80% £o •izuØPõÚ \õßÔuÌ ö£ØÓuØS £n® 

Á`¼UP¨£mhx ¹. 2,40,000. «u•ÒÍ ‰»¨& 

ö£õ¸mPÎß Âø» ¹. 10,000. Bø»°ß ÷u´©õÚ® 

10%. 
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SECTION B — (4  15 = 60 marks) 

Answer any FOUR of the following. 

6. Explain the scope and advantages of cost 
accounting. 

 AhUPÂø» PnUQ¯¼ß ÷|õUP[PøÍ²®, 

|ßø©PøÍ²® ÂÍUSP. 

7. Reconcile the profit between cost and financial a/c  

 (a) The net profit as per financial a/c  
Rs. 2,85,000 

 (b) Net profit as per cost account Rs. 3,88,600 

 (c) The following items were included in the 
financial books 

  Directors fees (Dr) Rs. 6,500, bank interest 
(cr) Rs. 300; income tax (Dr) Rs. 83,500. 

 (d) Bad debtor for Rs. 5,700 were written off in 
financial 600 k only 

 (e) Overhead in cost accounts absorbebed were 
Rs. 85,000, while actual were Rs. 83,200 

 (f) Net loss of Rs. 10,000 on sale of machinery 
was dealt in financial accounts. 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x {v{ø» 

PnUQ¯ø»²®, AhUPÂø» PnUQ¯ø»²® 

Á›Pmk® £mi¯À u¯õ›UPÄ® 

 (A) {v{ø» PnUQ¯À £i C»õ£® ¹. 2,85,000 

 (B) AhUPÂø» PnUQ¯À£i C»õ£® ¹. 3,88,600 

 (C) RÌÁ¸® Â£μ[PÒ {v{ø»PnUQ¯¼À 

Põmh¨£mkÒÍx 

  C¯US|›ß Pmhn® (£ØÖ) ¹. 6,500; Á[Q 

Ámi (ÁμÄ) ¹. 300; Á¸©õÚÁ› (£ØÖ)  

¹. 83,500. 

 (D) {v{ø» PnUQ¯¼À ©mk® ÷\ºUP¨£mh 

ÁμõUPhß uÒÐ£i ¹. 5,700 

 (E) AhUPÂø» PnUQ¯¼À ÷©Øö\»Ä 

EÔg\¨£mhx (absorbed) ¹. 85,000 BÚõÀ 

Esø©°À ÷©Øö\»ÄPÒ ¹. 83,200. 

 (F) C¯¢vμ® ÂØÓvÀ Á¢u |mh®, {v{ø» 

PnUQ¯¼À Põmh¨£mhx ¹. 10,000. 
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8. From the following find out 

 (a) PV ratio   

 (b) BEP 

 (c) Sales for a profit of Rs. 40,000   

 (d) Profit for sales of Rs. 2,50,000 

 (e) Variable cost for two periods. 
 Sales Profit 

   

2016 1,50,000 20,000

2017 1,70,000 25,000

 RÌPsh Â£μ[PÎ¼¸¢x  

 (A) C»õ£ AÍÄ ÂQu® 

 (B) \›\©¦ÒÎ 

 (C) C»õ£® ¹. 40,000 C¸US® ÷£õx ÂØ£øÚ  

 (D) ÂØ£øÚ ¹. 2,50,000 EÒÍ ÷£õx C»õ£® 

 (E) Cμsk Á¸hzvØS® ©õÖ® ö\»Ä 

Psk¤iUPÄ®. 

 ÂØ£øÚ C»õ£®

   

2016 1,50,000 20,000

2017 1,70,000 25,000
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9. With the help of following calculate total earnings 
and rate earned per hour for three workmen under 
Halsey and Rowan plans. 

 Standard time 20 hours; housing rate of wages  
Rs. 4, time taken by A-16 hours, B-10 hours C-8 
hours. 

 R÷Ç öPõkzxÒÍ Â£μ[PÎ¼¸¢x ‰ßÖ 

öuõÈ»õÎPÐUS® íõÀ÷\, ÷μõÁõß •øÓ°À 

Fv¯zøu PnUQkP. 

 {ºn°UP¨£mh ÷|μxÎPÒ 20 ©oPÒ, Fv¯ 

ÂQu® ©oUS ¹. 4, Gkzx öPõsh ÷|μ® 

 A&16 ©oPÒ,  B&10 ©oPÒ, C&8 ©oPÒ. 

10. From the following prepare cost sheet with profit 
per unit 

  

Raw material used 40,000

Direct wages 24,000

Man hours worked 9500 hours

Man hour rate 4 per hour

Office over head  20% on work cost

Seeing over head 1 per unit

Unit produced 20,000 units

Unit sold 18,000 @ Rs. 10 per unit



 

 UG-243 8

 RÌPsh Â£μ[PÎ¼¸¢x AhUP Âø» £mi¯ø»,  

C»õ£® J¸ ÂQu® •øÓ¯õP u¯õ›UP 

  
E£÷¯õP¨£kzv¯ 

‰»¨ö£õ¸mPÒ 

40,000

÷|μi T¼  24,000
öuõÈ»õÎ ÷Áø» 

ö\´u ©oPÒ 
9500

÷|μi ÂQu® ©oUS 4
{ºÁõP ÷©Øö\»Ä  20% öuõÈØ\õø» 

AhUPzvÀ

ÂØ£øÚ ÷©Øö\»Ä 1 J¸ A»SUS

ö©õzu EØ£zv 20,000 A»SPÒ

ö©õzu ÂØ£øÚ 18,000 A»SPÒ ¹. 10 J¸ 

A»QØS

11. A product passes through processes T, U and V 
10000 units @ Re. 1 per unit were issued to 
process T. The other details are 

 Process 

Material T U V 

 Rs. Rs. Rs. 

Direct labour 1,000 1,500 1,480

Direct expenses 5,000 8,000 6,500

 1,050 1,188 1,605
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 The wastage of process T was 5%, U-4% and V-5%. 
The wastage of process T was sold for Rs. 0.25 per 
unit, U-0.50 per unit, V-Rs. 1 per unit. The 
overhead charges were 168% of direct labour. The 
final product sold for Rs. 10 per unit, earning 
profit of 20% on sale. Prepare process a/c and 
finished goods account. 

 A GßÓ ö£õ¸øÍ u¯õ›UP T, U and V GßÓ ‰ßÖ 

ö\¯À•øÓPÒ EÒÍÚ. ö\¯À •øÓ T US 

‰»¨ö£õ¸mPÍõP ö\¾zu¨£mhx. ¤ßÁ¸® 

ÂÁμ[PÎÀ C¸¢x ö\¯À•øÓ PnUS, ö©õzu 

ö£õ¸Ò PnUS u¯õ›UPÄ®. 

 ö\¯À•øÓPÒ 

‰»ö£õ¸mPÒ T U V 

 ¹. ¹. ¹. 

÷|μi T¼ 1,000 1,500 1,480

÷|μi ö\»ÄPÒ 5,000 8,000 6,500

 1,050 1,188 1,605

 ö\¯À•øÓPÒ T&15%, U&4% V 5% GßÓ PÈÄPÒ 

HØ£k®. PÈÄPÒ ÂØS® Âø» J¸ A»SQØS 

ö\¯À•øÓ T ¹. 25, U&¹. 0.50, V&¹. 1 GßÓ 

ÂØP¨£kQÓx. ÷©Øö\»ÄPÒ 168% ÷|μi T¼PÒ 

÷©À HØ£k®. EØ£zv •i¢u ö£õ¸mPÒ J¸ 

A»SQØS ¹. 10 GßÓ ÂQuzvØS® Auß ÷©À 20% 

C»õ£zvØS® ÂØP¨£k®. 
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12. Sakthi construction company undertook a contract 
for constructing a flyover for a total value of Rs. 24 
lakhs on 1.1.2016. It was estimated that the 
contract would be completed by 31.7.2016. Prepare 
contact account. wages Rs. 6,00,000; materials  
Rs. 3,00,000; material at site on 31.12.2016 
40,000. Special plant Rs. 2,00,000, overheads  
Rs. 1,20,000, work certified Rs. 16,00,000. 
Depreciation 10% per annum on plant. Cash 
received is 80% of work certified, 8% of value of 
materials issued and 7% of wages may be taken to 
have been incurred for the portion of work 
completed. But not certified. overhead are charged 
as percentage on direct wages. 

 1.1.2016 À ¹. 24 C»m\® ©v¨¦ÒÍ ÷©®£õ»® 

Pmk® £oø¯ \Uv PßìiμUåß {ÖÁÚ® 

GkzxöPõshx. C¢u £o 31.7.2016 USÒ 

•iUP¨£h ÷Ásk® C¢u J¨£¢u £o PnUøP 

u¯õ›UPÄ®. 

 ÷|μi T¼ ¹. 6,00,000; ‰»¨ö£õ¸mPÒ ¹. 3,00,000; 

‰»¨ö£õ¸mPÒ 31.12.2016 AßÖ ¹. 40,000; 

Â÷\å©õÚ Bø» ¹. 2,00,000; ÷©Øö\»ÄPÒ  

¹. 1,20,000 £o \õßÔuÌ ö£ØÓx ¹. 16,00,000; 

Bø»°ß ÷©À ÷u´©õÚ® 10% £n® ö£Ó¨£mhx 

80% £o \õßÔuÌ ÷©À; £o \õßÔuÌ ö£Ö® ÷£õx 

8% •»¨ö£õ¸mPÒ ©v¨¦®, 7% ÷|μi T¼ ©v¨¦® 

ö£ØÖUöPõÒÍ¨£mhx BÚõÀ £o \õßÔuÌ 

ö£Ó¨£hÂÀø». 

 ÷©Øö\»ÄPÒ, ÷|μi T¼¯õP \›¯õP ö\´¯¨£mhx. 

––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION —  
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Third Year 

Accounting and Finance 

ACCOUNTING FOR MANAGERIAL DECISIONS 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Explain the nature of financial statements. 

 {v{ø» AÔUøP°ß ußø©PøÍ ÂÁ›. 

2. What are the Advantages of ‘Cash Flow Analysis? 

 öμõUP Kmh £S¨£õ´Âß |ßø©PøÍ ÂÁ›. 

3. What is pay-back period method? What are its 
merits and demerits? 

 •u½k öuõøP v¸®£ ö£Ö® Põ»® •øÓ°ß |ßø© 

©ØÖ® wø©PøÍ ÂÁ›. 

 UG–244 BAF–35
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4. Find out the pay-back period of the two options 

given below. Standard pay-back is 3 years. 

Suggest the profitable investment. 

Particulars Option -I (Rs) Option -II (Rs)

Required Investment 8,000 7,000

Cash inflow:  

Year 1 4,000 2,500

Year 2 3,000 2,500

Year 3 2,000 2,500

Year 4 1,000 2,500

 ¤ßÁ¸® Cμsk vmh[PÎÀ G¢u vmh® C»õ£® 

uμTi¯x Gß£øu Psk¤i. {ø»¯õÚ •u½k «m¦ 

Põ»•øÓ–3 BskPÒ vmh[PøÍ •u½k «m¦ Põ» 

•øÓ°À ©v¨¥k ö\´P. 

ÂÁμ® vmh® (A) 

¹. 

vmh® (B)

 ¹. 

÷uøÁ¯õÚ •u½k 8,000 7,000

öμõUP EÒ ÁμÄPÒ:  

Á¸h® 1 4,000 2,500

Á¸h® 2 3,000 2,500

Á¸h® 3 2,000 2,500

Á¸h® 4 1,000 2,500
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5. A project costs Rs.15,60,000 and yield annually a 

profit of Rs.2,70,400 after depreciation of 12% p.a. 

but before tax at 25%. Calculate pay — back 

period. 

 J¸ vmhzvß ©v¨¦ ¹. 15,60,000 ©ØÖ® Auß 

Á¸hõ¢vμ C»õ£® ÷u´©õÚ® 12% p.a ¤ß  

¹. 2,70,400. BÚõÀ Á›US •ß 25% Cuß 

Ai¨£øh°À •u½k «m¦ Põ»zøu Psk¤i. 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Describe the characteristics of Management 

Accounting. 

 ÷©»õsø© PnUS £vÂ¯¼ß ußø©PøÍ ÂÁ›. 

7. Enumerate different ‘Sources’ and ‘Applications’ of 

cash. 

 "{v EÒÁμÄ' ©ØÖ® "{v £¯ß£õk' BQ¯ÁØÔß 

£À÷ÁÖ ÁÈPøÍ ÂÁ›. 
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8. Distinguish between cost accounting and 

management accounting. 

 AhUPÂø» PnUQ¯¾US® ©ØÖ® ÷©»õsø© 

PnUQ¯¾US® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

9. Prepare a flexible budget for overheads on the 

basis of the following data. Ascertain the overhead 

rates at 50%, 60%, and 70% capacity. 

Variable overheads At 60% capacity 

Indirect material 6,000 

Indirect labour 18,000 

Semi-variable overheads  

Electricity (40% fixed 60% variable) 30,000 

Repairs (80% fixed 20% variable) 3,000 

Fixed overheads  

Depreciation 16,500 

Insurance 4,500 

Salaries 15,000 

Total overheads 93,000 

Estimated direct labour hours 1,86,000 
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 ¤ßÁ¸® Â£μ[PÎ¼¸¢x ÷©Øö\»ÄUPÐUPõÚ 

J¸ ö|QÌÄ vmh AÔUøP°øÚ u¯õº ö\´P. 50%, 

60% ©ØÖ® 70% AÍÄPÎÀ ÷©Øö\»Ä Ãu[PøÍ 

Psk¤i. 

©õÖ£k® ÷©Øö\»ÄPÒ 60% AÍÂÀ 

¹. 

©øÓ•P ‰»ö£õ¸mPÒ 6,000 
©øÓ•P T¼ 18,000 
£Sv ©õÖ£k® ÷©Øö\»ÄPÒ  
ªß\õμ® (40% {ø»¯õÚx   
60% ©õÖ£h Ti¯x) 30,000 
£Êx£õºzuÀ (80% {ø»¯õÚx 20% 

©õÖ£hTi¯x) 

3,000 

{ø»¯õÚ ÷©Øö\»ÄPÒ  
÷u´©õÚ® 16,500 
Põ¨¥k 4,500 
Fv¯® 15,000 
ö©õzu ÷©Øö\»ÄPÒ 93,000 
Ez÷u]\UP£mh ÷|μi ÷Áø» ÷|μ® (©oPÒ) 1,86,000 

10. From the following data forecast the cash position 
at the end of April, May and June 2015. 
Month Sales Purchases Wages Sales  

expenses
 Rs. Rs. Rs. Rs. 

February 1,20,000 80,000 10,000 7,000
March 1,30,000 98,000 12,000 9,000
April 70,000 1,00,000 8,000 5,000
May 1,16,000 1,03,000 10,000 10,000
June 85,000 80,000 8,000 6,000
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 Additional Information: 

 (a) Sales at 10% realized in the month of sales 
Balance equally realized in two subsequent  
months. 

 (b) Purchases: Creditors are paid in the month 
following the month of supply. 

 (c) Wages: 20% paid in arrears in the following 
month. 

 (d) Sales expenses paid in the month itself. 

 (e) Income tax Rs.20,000 payable in June. 

 (f) Dividend Rs.12,000 payable in June. 

 (g) Income from investments Rs.2,000 received 
half-yearly in March and September. 

 (h) Cash balance on hand as on 1.4.15 
Rs.40,000. 

 ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x, H¨μÀ, ÷©, ©ØÖ® 

áüß ©õu[PÐUPõÚ öμõUP vmh AÔUøPø¯ u¯õº 

ö\´P. 

©õu® ÂØ£øÚ (¹) öPõÒ•uÀ (¹) T¼ (¹) ÂØ£øÚ 

ö\»Ä (¹.)

¤¨μÁ› 1,20,000 80,000 10,000 7,000
©õºa 1,30,000 98,000 12,000 9,000
H¨μÀ 70,000 1,00,000 8,000 5,000
 ÷© 1,16,000 1,03,000 10,000 10,000
áüß 85,000 80,000 8,000 6,000
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 ¤Ó Â£μ[PÒ. 

 (A) ÂØ£øÚ°À 10% A÷u ©õuzv¾® , «v öuõøP 

¤ßÁ¸® Cμsk ©õu[PÎÀ \›\©©õP 

Á`¼UP¨£k® 

 (B) ÁÇ[S÷Áõº AÎUS® Põ» AÁPõ\®–1 ©õu® 

 (C) T¼°À 20% AuØS Akzu ©õuzvÀ 

öPõkUP¨£k® 

 (D) ÂØ£øÚ T¼ A÷u ©õuzvß öPõkUP¨£k® 

 (E) áüß ©õuzvÀ ¹. 20,000 Á¸©õÚ Á› öPõkUP 

÷Ási²ÒÍx. 

 (F) £[Põuõ¯® ¹.12,000 áúß ©õuzvÀ öPõkUP 

÷Ási²ÒÍx 

 (G) •u½mi¼¸¢x Á¸©õÚ® ¹. 2,000 

Aøμ¯õshõP ©õºa ©ØÖ® ö\¨h®£º 

©õu[PÎÀ ÁμÄ øÁUP ÷Ásk® 

 (H) 1.4.15 AßÖ öμõUP øP°¸¨¦ ¹. 40,000 

11. From the following information make out a 
statement of proprietors funds with as many 
details as possible: 

 (a) Current ratio 2.5 

 (b) Liquidity ratio 1.5 

 (c) Proprietary ratio (fixed assets/proprietary 
fund) 0.75 

 (d) Working capital Rs.60,000 



 UG–244 8

 (e) Reserves and surplus Rs.40,000 

 (f) Bank overdraft Rs.10,000 

 (g) There is no long- term loan or fictitious 
asset. 

 RÌPõq® ÂÁμ[PÎÀ C¸¢x E›ø©¯õÍºPÎß {v 

AÔUøP°øÚ u¯õº ö\´P. 

 (A) |h¨¦ ÂQu® –2.5 

 (B) }ºø© ÂQu®–1.5 

 (C) ö\õzx ({ø») E›ø©¯õÍº ÂQu®–0.75 

 (D) |øh•øÓ •uÀ ¹. 60,000 

 (E) Põ¨¦® ªSv²® – ¹. 40,000 

 (F) Á[Q ÷©ÀÁøμ¨ £ØÖ– ¹. 10,000 

 (G) }shP Põ» Phß ©ØÖ® PØ£øÚ¯õß ö\õzx 

CÀø». 

12. The following figures relate to the trading 
activities of a company for the year ended 
31.12.16. 

Particulars Rs. Particulars Rs. 

Sales 1,00,000 Salary of salesmen 1,800

Purchases 70,000 Advertising 700

Closing stock 14,000 Travelling expenses 500

Sales returns 4,000 Salaries (office) 3,000

Dividend received 1,200 Rent 6,000

Profit on sale   Stationery 200



 UG–244 9

Particulars Rs. Particulars Rs. 

of fixed assets 600 Depreciation 1,000

Loss of sale of shares 300 Other expenses 2,000

Opening stock 11,000  

Provision for tax 7,000  

 You are required to calculate: 

 (a) GP ratio 

 (b) NP ratio 

 (c) Operating ratio 

 (d) Operating profit ratio. 

 RÌPõq® Â£μ[PÒ J¸  {ÖÁÚzvß C»õ£ |mh 

PnUPÎÀ C¸¢x GkUP¨£mhøÁ. AÁØÖÒ C¸¢x 

RÌPsh ÂQu[PøÍ Psk¤i. 

 (A) ö©õzu C»õ£ ÂQu® 

 (B) {Pμ C»õ£ ÂQu® 

 (C) ö\¯À•øÓ ÂQu® 

 (D) ö\¯À•øÓ C»õ£ ÂQu® 

ÂÁμ® ¹. ÂÁμ® ¹. 

ÂØ£øÚ 1,00,000 ÂØ£øÚ¯õÍºPÎß

öPõÒ•uÀ 70,000 Fv¯® 1,800
CÖv \μUQ¸¨¦ 14,000 ÂÍ®£μ® 700
ÂØ£øÚ v¸¨£® 4,000 £¯n ö\»ÄPÒ 500
ö£Ó¨£mh £[Põuõ¯® 1,200 A¾Á»P Fv¯® 3,000
{ø»¯õÚ   ÁõhøP 6,000
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ÂÁμ® ¹. ÂÁμ® ¹. 

ö\õzxUPÒ 600 ì÷hèÚ› 200
£[SPøÍ ÂØÓvÀ |mh® 300 ÷u´©õÚ® 1,000
Bμ®£ \μUQ¸¨¦ 11,000 Cuμ ö\»ÄPÒ 2,000
Á› JxUS 7,000  

 

    ————— 




